Benzaldehyde
Response Ratio

2.4

Amount Ratio

R = -6.89e-002 A*A + 7.75e-001 A + 1.61e-001
Coef of Det (r"2) = 0.999 Curve Fit: Quadratic

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF120619.M
Calibration Table Last Updated: Fri Dec 06 17:34:43 2019




Response Ratio

Atrazine

Amount Ratio

R = -2.62e-002 A*A + 2.26e-001 A - 1.29e-003

Coef of Det (r™2) = 0.993

Curve Fit: Quadratic

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF120619.M
Calibration Table Last Updated: Fri Dec 06 17:34:43 2019




